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101|R#A7 L 229 61 168| Kg |&)I 1,620 702|E )1l 2,700 1,080
102|&JE 7= L 1,272 1272 Kg BIE 1,566 532
111|&EEF £ 111 13 98| Kg |B=40 1,296 ®e - B 1,728 216
113|RAV S 22 2 20| Kg |EE 1,728 540| =4 3,024 2,160
114|B5EFE 133 133| Kg e 2,700 1,080
117[14 % 65 65| Kg FfE 3,780 756
121{hblE € 27 15 12| Kg |EM& 1,296 485| L 1,620

134[#= 242 173 69| Kg |ERES - =4 2,400 1,500 £/ 3,780 1,836
137|&5E3.< 220 182 38| Kg |BER 4,968 1,944| K& 4,644 3,240
140(5 I 16 1 15| Kg [d3% 19,440 FfE 38,880 13,500
147|E2 O 87 87| Kg i 8,100 4,000
158|&TEN A IEH 320 110 210 Kg |EB=R 1,080 918|fe 2 2,106 1,188
201|{Lb L 489 489 Kg = 360 144
203|/hé L 134 134 Kg FfE 324 270
205|585 L 208 208| Kg 12 594 432
206| = 1F 227 227|  Kg =5 648 480
208| Mo % 54 54|  Kg ML 1,018 648
2094 B & L 88 76 12| Kg |=# 810 = 1,080

212|&5E.3 Y 615 615| Kg E - BB 1,998 1,080
251|< %<3 13 13| Kg =] 7,344

254|EhRECH 529 48 481 Kg |FE 1,631 1523|855 1,998 1,166
303|1A 220 700 50 650| Kg |EIA 432 1 500
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315|7: B9 6 12 12| Kg = I 3,240 2,700
319|2h o 55 55 Kg & 1,620 494
332|= 13 WA =EF 147 147]  Kg Bl = 2,376 2,160
351(4EH 12 6 6| Kg [3&E 4,860 i 14,040

35411FxE<Y 29 29 Kg =5 2,700 1,134
355(mp Y 95 10 85| Kg |hE 756 648|LBE - EEE 1,944 600
356(L L& 55 b5 Kg SER 1,512 1,080
357|7RE 18 6 12| Kg |E=E 2,376 2,160|8&E 1,944 1,148
362(H & 426 426 Kg e 1Ly 10,080 468
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A—uhh 10 10| Kg 2P 864
AN 252 252 Kg i 1,400 880
AERAT AT 968 968 Kg 2P 4,320 1,126
ARTEZL 20 20| Kg E2p] 1,566 1,242
JE WA AE 30 30 Kg Bl = 950

iy} 59 59 Kg i 1,296 972
Jarys: e 228 228 Kg 2P 4,100 1,050
B 10 10| Kg i 4,000

BRI 125 1251 Kg Bl = 980
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701BbY DA 84 84 Kg & 1,674 1,350
71019 2 ®HA0F 11 11| Kg =N 1,375 1,350
7511 EFFHh N 412 345 67 Kg |B1R 739 655 |/ 827 655
755|FH L 24 24|  Kg FE 710 524
759|855 H£ L 24 24 Kg =1, 1,260
7611 b BHAEL 6 6| Kg AL 1,980
7671 /=5 L H 75 75 Kg & 2,340 2,160
8011 = 1F 340 340 Kg ¥ -mA 1,900 1,134
8021 = ¥ 60 60 Kg A 1,612 1,242
80413 10 10| Kg blo ] 1,188
805|E =X 206 206 Kg JbiF 972 743
810|BAKTF 81 81| Kg B =2 2,638 2,592

1/1




